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SOLUTIONS...
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SOLUTIONS...
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WARM-UP: Graph the solution and state 2 possible solutions...
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Applications: Systems Involving Inequalities

STEP 1 - Declare Variables EXAMPLE #1:
State Restrictions To raise funds for /7 - day, the PI Committee
has-500
STEP 2 - Create Linear Inequalities

They have two varieties:

STEP 3 - Graph Solution Set #1."18 Sum 7' or #2.' - DAY 2016'.
STEP 4 - Answer question(s) hey expect to sell at least twice as many of
(‘ the ﬁ‘é\t as the seeBnd.
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In Summary

Key Ideas 6 ¥ =x /

* Some contextual situations can be modelled by a system of two or
more linear inequalities. 5 (EAT

» All of the inequalities in a system of linear inequalities are graphed region 2
on the same coordinate plane. The region where their solution regions X
intersect or overlap represents the solution set to the system. For example, "1 é'
this graph shows the solution region to this system:
x.W|y=xxE€ER yER}
{x,W|y=5xE R yER]

Need to Know PN

* Aswith the solution region for a single linear inequality, the sclution
region for a system of linear inequalities can be discrete or continuous >
and can be restricted to certain quadrants. For example, the graph to 4
the right shows the system described below: 3] .
{|ly=1,xE W,y E W
e, W|y=-3x+6,xE W,y EW 24 . 1
Its solution region is restricted to discrete points with whole-number 1| L
coordinates in the first quadrant. % 3Ix + 6 X

= |f the solution regions for the linear inegualities in the system do not 2 ; i 3" "‘ -
overlap, there is no solution.
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HOMEWORK... ,

p. 225: #1 & 2
p. 235:#2,5 &6



	Page 1: Sep 12-10:11 AM
	Page 2: Feb 11-9:25 AM
	Page 3: Feb 17-8:37 AM
	Page 4: Oct 16-10:42 AM
	Page 5: Oct 16-10:46 AM
	Page 6: 6.2 Page 5
	Page 7: Oct 15-11:16 AM

